## **Historic, Archive Document**

Do not assume content reflects current scientific knowledge, policies, or practices.



# NEW HAVEN NURSERIES

62 4

NEW HAVEN, MISSOURI



Privet Hedge and Driveway from Storage Buildings, New Haven Nurseries

### J. BAGBY & SONS COMPANY

JULIAN BAGBY
PRESIDENT

JOHN L. BAGBY

R. J. BAGBT

FALL 1910—SPRING 1911

LOCATION:

Sixty-seven miles west of Saint Louis on main line of the Missouri Pacific Railway Apple Trees

Our apples are all grown on Missouri River upland, on well branched whole roots, smooth, clean and well grown in every respect. No better trees can be found anywhere.

	Each	10	100	1000
1 year old, 1 to 2 feet	80.08	\$0.70	\$ 6.00	\$ 50.00
1 year old, 2 to 3 feet	.10	1.00	8.00	75.00
1 year, 3 to 4 feet, first class	.12	1.20	10.00	90.00
2 years, 4 to 6 feet, well branched, first class	.15	1.40	13.00	120.00
2 years, 5 to 6 feet, well branched, select	.25	2.00	18.00	170.00

### SELECT VARIETIES

#### SUMMER

Car. Red June Duchess Oldenburg Early Harvest Maiden Blush Red Astrachan Summer Queen FALL Yellow Transparent Benoni

Chenango Grimes' Golden Rome Beauty Rambo WINTER Wolf River Wealthy

Ark. Black Ben Davis Baldwin Gano Geneton Gravenstein Huntsman Ingram Jonathan Missouri Pippin M. Black Twig Northwest Greening Northern Spy Newtown Pippin Spitzenburg Stayman's Winesap Winter Banana Winesap York Imperial Vandevere

#### CRAB APPLES

Transcendent

Whitney

### Peach Trees

We are the largest growers of Peach Trees in the West and can supply in any quantity—the best up-to-date market sorts. Our Peaches are stocky, nicely headed, smooth, straight bodies, well rooted, on healthy Peach stocks and free from any disease. Remember this in comparing prices with other establishments. Freight Paid to Your Station, on conditions mentioned. Over 350,000 sold and shipped to other nurserymen during 1909-1910.

	Each	10	100	1000
2 to 3 feet, well rooted; 1 year from bud	\$0.09	\$0.80	\$ 6.00	\$ 50.00
Medium, 3 to 4 feet, nice, well branched	.11	1.00	8.00	70.00
First class, 31/2 to 5 feet, nicely headed	.14	1.20	10.00	90.00
Extra Select, 4½ to 6 feet	.15	1.40	12.50	110.00

### SELECT VARIETIES

Alexander Carman Crawford's Early Crawford's Late Captain Ede Champion Chair's Choice Chinese Cling Crosby Elberta
Emma
Foster
Fitzgerald
Greensboro
Gold Dust
Heath Cling
Henrietta

Mt. Rose
Matthews' Beauty
Miller Cling
Muir
Mayflower
Mixon Free
Phillips Cling
Ringgold Cling

Salway Smock Stump the World Sneed Thurber Triumph Wheatland

Wonderful

# Cherry Trees

Our Cherry are all budded on Imported French Mahaleb and Mazzard stock. They have fine roots and nice heads. All well rooted and will be graded full size indicated, and up.

Each	10	100	1000
\$0.40	\$3.00	\$22.00	\$200.00
.30	2.50	18.00	160.00
.25	2.00	14.00	120.00
.20	1.50	13.00	110.00
.15	1.25	8.50	75.00
	\$0.40 .30 .25 .20	\$0.40 \$3.00 .30 2.50 .25 2.00 .20 1.50	\$0.40 \$3.00 \$22.00 .30 2.50 18.00 .25 2.00 14.00 .20 1.50 13.00

#### OUR SELECT LIST OF VARIETIES

Baldwin Belle de Choicy Dyehouse Early Richmond Elton English Morello Gov. Wood Ostheim Magann, new sweet

Montmorency Wragg

### Plums

			Each	10	100	1000
First class trees,	5 to 6	feet	0.40	\$3.00	\$22.00	\$190.00
First class trees,	4 to 5	feet	.30	2.50	18.00	160.00
First class trees,	3 to 4	feet	.25	2.00	15.00	130.00
Small size trees,	2 to 3	feet	.20	1.50	10.00	85.00

#### OUR SELECT LIST OF VARIETIES

Abundance Burbank Damson German Prune Ogon Red June Shipper's Pride Shropshire Damson Wild Goose Willard **Wickson** Tatge

Black Beauty (New)—The best Japan sort we have ever grown. Large, very dark purple, almost black. Persimmon shape. Quality and size of Abundance. 4 to 6-foot trees, 50 cents each.

### Standard Pear Trees

Our Pears are especially clean, smooth and well rooted, grown on XX French imported stocks.

	Each	10	100	1000
Leading sorts, first class, 5 to 7 feet, 2 yrs	.\$0.40	\$3.00	\$21.00	\$200.00
Leading sorts, 4 to 6 feet, 2 yrs., 5-8 to 3-4	30	2.50	18.00	170.00
Leading sorts, 1 year, 4 to 6 feet	30	2.50	16.00	150.00
Leading sorts, 1 year, 3 to 4 feet	25	1.50	14.00	120.00

#### LIST OF VARIETIES

B. d'Anjou Keiffer Koonce Louise Bonne Bartlett Clapps Seckel

Garber Duchess De Angouleme Flemish Beauty

100

### Small Fruits and Miscellaneous

#### MULBERRIES

	Eacn	. 10	100
New Everbearing (best)	\$0.50	\$4.00	•••••
Downing, 4 to 5 feet	40	3.50	\$35.00
Russian, 4 to 6 feet	30	2.50	20.00
Tea's Weeping-Nothing better for lawn, 2-year, he	eads .75	6.00	50.00
GRAPE VINES			
Each	10	100	1000
Brighton, 2 years, No. 1, red, rich, sweet\$0.10	\$0.75	\$ 5.00	\$ 40.00
Catawba, 2 years, No. 1, late red	.75	5.00	40.00
Concord, 1 year, No. 1, black	.50	4.00	25.00
Delaware, 1 year, No. 1, red	.90	6.00	40.00
Eaton, 2 years, No. 1, black	1.00	10.00	******
Elvira, 1 year, No. 1, white	.60	4.00	30.00
Empire State, 2 years, No. 1, white	1.00	7.00	
Goethe, 1 year, No. 1, yellow green	.75	6.00	50.00
Hartford, 1 year, No. 1 black	.70	4.00	30.00
Ive's Seedling, 1 year, No. 1, black	.70	4.00	30.00
Moore's Early, 2 years, No. 1, black	.75	6.00	50.00
Niagara, 2 years, No. 1, white	.75	6.00	40.00
Norton's Virginia, 2 years, No. 1, black	1.50	10.00	********
Pocklington, 1 year, No. 1, white yellow	1.00	5.00	40.00
Worden, 2 years, No. 1, black	.75	5.00	35.00
Woodruff Red, large, meaty, good	1.00	8.00	

We pay the Freight on small orders clubbed together for shipment to one point, if the amount is \$10.00 or more, on conditions named on second page.

### Small Fruits and Miscellaneous---Continued

CURRANTS	<b>~</b> ,	4.0	
Bod Dutch White Dutch Warrellian O	Each	10	100
Red Dutch, White Dutch, Versailles, 2 years		\$0.75	\$ 6.00
black Naples, Fay's Floring, 2 years	10	.75	6.00
BLACKBERRIES			
	10	100	1000
Snyder, Early Harvest, Kittatinny, Freed	.\$0.50	\$2.00	\$14.00
Lucretia Dewberry	50	2.00	14.00
DACDDEDDAG			
RASPBERRIES	10	100	1000
Gregg, Souhegan, Mammoth Cluster, Kansas		\$1.50	\$12.00
Shaffer's Colossal, Marlboro, Miller		1.50	12.00
Ohio, Hopkins		1.50	12.00
Cumberland		2.50	15.00
		2.00	10.00
GOOSEBERRIES			
	Each	10	100
Downing, 2 years, No. 1	\$0.15	\$1.50	\$10.00
Houghton, 2 years, No. 1	15	1.25	8.00
ROSES			
Trubuta Trubuta Trubuta and Market Company	Each	10	100
Hybrid Perpetuals and Tea's, 2 years extra		\$2.50	\$18.00
Climbing, 2 years extra		2.00 2.50	15.00
Moss, 2 years and extra 1 year	30	2.50	18.00
MISCELLANEOUS			
	Each	10	100
California Privet-2 years, No. 1, 3 to 4 feet, first class	.\$0.08	\$0.70	\$ 6.00
California Privet-2 years, No. 1, 2 to 3 feet, first class	07	.60	4.00
Rhubarb-Victoria		.75	6.00
Catalpa—6 to 8 feet		3.00	20.00
Maple—Soft, 8 to 10 feet		4.00	30.00
Tulip Trees—6 to 8 feet		4.00	30.00
Elm—6 to 8 feet		4.00	30.00
Calycanthus—2 to 3 feet, first class		2.50	15.00
Hydrangea—2 to 3 feet, first class		2.50	15.00
Honeysuckles		2.50	15.00
Snowballs—3 to 4 feet		2.50	15.00
Spirea—Assorted, 2 to 3 feet		$\frac{2.50}{2.50}$	*******
Nea Bua—5 to 6 feet	50	4.50	*******
Dromations non by Atlantas			

### DISTANCES FOR PLANTING

Standard Apples
Standard Pears and Strong-Growing Cherries20 feet apart each way
Duke and Morello Cherries18 feet apart each way
Standard Plums, Apricots, Peaches, Nectarines18 to 20 feet apart each way
Dwarf Pears10 to 12 feet apart each way
Grapesrows 10 to 16 feet apart; 7 to 16 feet in rows
Currants and Gooseberries3 to 4 feet apart
Raspberries and Blackberries3 to 4 by 5 to 7 feet apart
Strawberries, for field culture
Strawberries, for garden culture1 to 2 feet apart

We Promise You Extra Quality. Send Your Orders Early. Don't wait until the last day. Order the Trees. We Do the Rest.

### Small Fruits and Miscellaneous---Continued

### NUMBER OF TREES ON AN ACRE

30 f	eet	apart	each	way	50
25 f	eet	apart	each	way	70
		_		way	
		-		way	
				way	

#### ABOUT AGENTS

We are not employing traveling salesmen to solicit orders, but we shall be pleased to have you get up a club among your neighbors, and on club orders amounting to \$25.00 or more, at single, 10 or 100 rates, we allow you 10 per cent additional in stock. We put up each order in a separate package, so that upon receipt of the goods you have only to hand out the different lots as ordered. Many of our best customers buy in larger quantities at the lowest rates and distribute in lots as ordered by their neighbors.

We also desire to sell to nurserymen and dealers who buy to sell again, and special prices will be made on carloads or larger quantities than indicated in this list.

References—Some of our correspondents have asked us to give them bank references, and we hereby comply, and can also refer to any other local business firm, and to the commercial agency reports.

We also refer to Farmers' Savings Bank, New Haven, Mo., or to the First National Bank, Washington, Mo.

E mail this condensed list of prices to our friends and customers, and will ask that they favor us with their orders as early as practicable. The prices are for the goods at your station, if your order amounts to \$10 or more. We have now growing in our nurseries over two million fruit trees, by actual count. All clean and healthy. Entomologist's Certificate with each shipment. No San Jose Scale, Yellows or Rosette has been found in this county.

Shipments to Pacific Coast and Southern States from our frostproof storage during winter months via Southern Routes.

We are growers of what we sell, having over 500 acres devoted exclusively to the nursery business. Many nurserymen are simply jobbers in the trade, and cannot sell stock with the same certainty of being true to name and free from disease.

## New Haben Nurseries

New Haben, Mo.

You Order the Trees—We Do the Rest. We pay the freight on small orders clubbed together for shipment to one point, if the amount is \$10.00 or more.

